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&HQWUR�GH�8PEDQGD�2JXP�%HLUD�0DU��H�
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&DERFOR� GDV� 6HWH� (QFUX]LOKDGDV´�� QD�
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EHP�FRPR�����YLQWH�H�GRLV��ILOKRV��DV��GH�VDQWR��(OHYD�VH�FRPR�SULRULGDGH�

DV�DWLYLGDGHV XPEDQGLVWDV�TXH�YLVDP�R�DFROKLPHQWR�j� WRGDV�DV�SHVVRDV�

LQGLVWLQWDPHQWH�� LQGHSHQGHQWH� GH� FUHGR�� UDoD�� JrQHUR� RX� SUHIHUrQFLD�
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6HJXLPRV� FULWHULRVDPHQWH� R� FDOHQGiULR� DQXDO� QR� TXH� UHIHUH�VH� jV� GDWDV�

FRPHPRUDWLYDV� UHODFLRQDGDV� DR� FXOWR� GRV� � 2UL[iV� H� GDV� HQWLGDGHV�

SHUWHQFHQWHV�j�FRUUHQWH�PHGL~QLFD�GD�FDVD�� WDLV�FRPR��)HVWD�GH�2[yVVL��

6mR�6HEDVWLmR�� HP����GH�-DQHLUR��)HVWD�GH�<HPDQMi� ��1��6UD�� ,PDFXODGD��

&RQFHLomR���HP����GH�)HYHUHLUR�� �)HVWD�GH�2JXP���6mR�-RUJH�*XHUUHLUR���

HP����GH�$EULO��)HVWD�GRV�3UHWRV�9HOKRV���$EROLomR�GD�(VFUDYDWXUD��HP����
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³$�2UGHP�GRV�$GYRJDGRV�GR�%UDVLO��VXEVHomR�&UDWR�&(��MXQWDPHQWH�FRP�D�&RPLVVmR�
GH�/LEHUGDGH�5HOLJLRVD��UHDOL]DUDP�RQWHP�D�DEHUWXUD�GD�³���6HPDQD�GH�8PEDQGD�GR�
&UDWR�� ���� DQRV� GH� 8PEDQGD� H� D� OXWD� SRU� OLEHUGDGH� UHOLJLRVD´�� 2� 3UHVLGHQWH� GD�
6XEVHomR��'U��5HQR�)HLWRVD�UHFHSFLRQRX�RV�UHOLJLRVRV�H�HQIDWL]RX�D�OXWD�GD�2$%�SHORV�
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³$�2UGHP�GRV�$GYRJDGRV�GR�%UDVLO�� VXEVHomR�&UDWR�&(�� MXQWDPHQWH� FRP�D�&RPLVVmR�
GH� /LEHUGDGH� 5HOLJLRVD�� 7HQGD� GDV� 6HWH� /X]HV�� &HQWUR� GH� 8PEDQGD�0DFDLD� &DERFOR�
7XSLQDPEi H�&DVD�GH�8PEDQGD�3DL�/XL]�GH�$UXDQGD�WHP�R�SUD]HU�GH�FRQYLGi�ORV�SDUD�
D� ��� 6HPDQD� GH� 8PEDQGD� GR� &UDWR�� ���� DQRV� GH� 8PEDQGD� H� D� OXWD� SRU� OLEHUGDGH�
UHOLJLRVD�� HYHQWR� TXH� DFRQWHFHUi� QD� VHGH� GD� 2$%� &UDWR�&(� QRV� GLDV� ��� D� ��� GH�
QRYHPEUR�GH������HP�DOXVmR�DR�'LD�1DFLRQDO�GD�8PEDQGD´�
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